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(1TEEs) R3 R4 R5 R6 R7
SEREHOLLH) 99 (51) 91 (50) 56 (26) 110 (55) 88 (37)
EHSBREDDS 51.5% 54.9% 46.4% 50.0% 42.0%
RERABHOLXRM) 21 (10) 18 (10) 24 (12) 12 (10) 8 (2)
ZHRAEDEE 47.6% 55.6% 50.0% 83.3% 25.0%
(R, BWE DA R3 R4 R5 R6 R7
SZEREHOLLMH) 12 (2) 11 (1) 6 (2) 3(1) 4 (2)
ZHSBREDET S 16.7% 9.1% 33.3% 33.3% 50.0%
EREHOLXM) 2 (1) 4 (0) 4 (1) 1(1) 3(2)
ZHERAZEDEE 50.0% 0.0% 25.0% 100.0% 66.7%
[{R 1R R3 R4 R5 R6 R7
SREBOLLM) 4 (4) 2(2) 2(2) 8 (5) 5 (4)
ZHSZEBREDE S| 100.0% 100.0% 100.0% 62.5% 80.0%
EREHOLZM) 2 (2) 2 (2) 1(1) 2 (1) 2 (1)
ZHEREDES|  100.0% 100.0% 100.0% 50.0% 50.0%
[RE L] R3 R4 R5 R6 R7
ZEREBOLLM) 12 (10) 8 (7) 3 (3)
ZHEZREDOIE| L. 83.3% s 87.5% 100.0%
RREHGLAR) | S UeC 3 | TEEL 0 2 2)
ZHRERBAEDIE 66.7% 100.0% 100.0%
[5R22 ) R3 R4 R5 R6 R7
SZEREBOLEM) 7 (4) 5 (5) 2 (1)
ZHRBREDIE| L. 57.1% 100.0% s 50.0%
RERAEHOLBXRMN) L 2 (1) 1(1) =L 1 (0)
ZHERERBAEDEE 50.0% 100.0% 0.0%
[mBe 4T B ] R3 R4 R5 R6 R7
SZEREZOLEM) 2 (1) 3(2) 3 (1) 9 (4)
EHSBREDD S 50.0% 66.7% s 33.3% 44.4%
= = . Ehelal
RERAEBHOLXRM) 0 (0) 0 (0) 0 (0) 2(2)
ZHEERAEDEE - - - 100.0%
[ Be = R Bk ] R3 R4 R5 R6 R7
SZEREHOLLMH) 21 (14) 20 (16) 44 (36) 34 (29) 25 (20)
ZHSBREDE S 66.7% 80.0% 81.8% 85.3% 80.0%
EREHOLXM) 17 (13) 16 (14) 36 (29) 29 (25) 25 (20)
THIEAEDIS 76.5% 87.5% 80.6% 86.2% 80.0%
EEA-SREELT
[ZDfth) R3 R4 R5 R6 R7
ZREBOLLM) 4 (4) 9 (8) 1(1) 24 (23) 9 (9)
THZEREDES| 100.0% 88.9% 100.0% 95.8% 100.0%
EREHOLXM) 1(1) 1(1) 0 (0) 3 (3) 1(1)
ZHEAEDRS]  100.0% 100.0% - 100.0% 100.0%
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R3.4.1 R4.4.1 R5.4.1 R6.4.1 R7.4.1

2K 623 618 630 639 639

TS 267 267 274 289 287

BERE 356 351 356 350 352
ZHEEDEHDEE] 42.9% 43.2% 43.5% 45.2% 44.9%
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R3.4.1 R4.4.1 R5.4.1 R6.4.1 R7.4.1

2K 51 53 54 55 55

g kdisg=l 6 9 12 11 10

B S 45 44 42 44 45
ZHEBED5HIES 11.8% 17.0% 22.2% 20.0% 18.2%
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R3.4.1
RER SRR FER BB AR
2K 87 66 39 12
THBE 29 20 4 2
BB E 58 46 35 10
ZHEEDEHDES] 33.3% 30.3% 10.3% 16.7%
R4.4.1
REMR REMEER FER BB R
2% 94 60 41 12
Eeqkdisq=] 35 17 6 3
B4R S 59 43 35 9
ZHEEDEHESE] 37.2% 28.3% 14.6% 25.0%
R5.4.1
REMHR FRERAEER FER BB RAR
k% 93 66 42 12
ZHERE 38 20 8 4
B4 S 55 46 34 8
ZHEEDEHDES] 40.9% 30.3% 19.0% 33.3%
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REMK SERAEER Rk BB R AR
k% 91 65 43 12
ZHE 39 18 8 3
B4 S 55 47 35 9
ZHBEDEHDEE] 42.9% 27.7% 18.6% 25.0%
R7.4.1
REMR REAEER FER BB EAR
28 97 67 43 12
Eeqkdisg=l 43 18 8 2
B S 55 47 35 9
THEBEDEHDEE] 443% 26.9% 18.6% 16.7%
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R 28ERE
MEEH | ARBELK G
BIERE 0 11 0.0%
= I3
AR TS 26 26 100.0%
EDHEICHESIRER 8 12 66.7%
B RS INARR 7 12 58.3%
ER29EE
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BIER S 0 19 0.0%
= |8
ARAR TS 18 18 100.0%
EZ 0O HEIZESKRER 10 19 52.6%
B RS INARRR 8 19 42.1%
ERI0EE
MEEH | ARBER iy e
BHBE 0 15 0.0%
=8
ARAR TS 22 22 100.0%
FZ 0O HEIZESKRER 6 15 40.0%
B RS INRER 5 15 33.3%
SHTEE
MEEH | ARBE iy =S
BIERE 0 12 0.0%
= IR
AR TS 15 15 100.0%
=0 HE SRR 7 12 58.3%
B RS INRR 8 12 66.7%
SH2EE
MEEH | ARBEK iy
BIERE 2 15 13.3%
= I3
AR TS 17 17 100.0%
EDHEICHESIRER 9 15 60.0%
B RS INARR 8 15 53.3%
SHBEE
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BHBE 9 19 47 4%
= I8
ARAE TS 21 21 100.0%
FE D HEZHFSRIR 16 19 84.2%
B RS kR 11 19 57.9%
SHAEE
MEEH | ARBER iy e
BHBE 8 19 42.1%
=8
ARAR TS 16 16 100.0%
FZ 0O HE SRR 16 19 84.2%
B RS InAkHR 15 19 78.9%
SHSERE
MEEH | ARBE iy R e
BliERE 10 12 83.3%
=3
ARAR TS 21 21 100.0%
=0 HE SRR 11 12 91.7%
B RS INRR 10 12 83.3%
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MEEH | ARBE iy e
BIERE 15 20 75.0%
=I5
AR B 23 23 100.0%
=0 HE SRR 19 21 90.5%
B RS ke 21 26 80.8%




